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Q—Fﬁifuﬂ'm‘l AT 2 IS 0.005, ) F AR LA LT L
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11 a5k, i A EEE xg. xp, xp, e v Xy UMy CRhEED, BEERH
B (x=xo) (x—x1) (x—=xa)==(x—x,) M85,
i Sk
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9. BN EEHTME RN n dk L0 P(x) 3 (x — ¢ JERFT 44 R 105 T £ 0L
£ x=c WL P(c), B
Plx)=(x- c)gr} I R
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(2) xe' =1=0 FERE[O, )M,
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if ya®y0<0
h=x0;

else
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end
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end
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fif: (1) ZAm2akdt 1 i, x = 0000, CRIFHES | B0F  2Car il 4T)
(20 ANEEIEAR 50, x5 =0.0905.
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x1=fi(x0);

er=ahs(x1-x0);
xl0=x1;k=k+1;
end
disp([x0.k])
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/] /] [

limx,,, =lim.2+x,
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Mk=17 I, | xj5— 27| = 10.56714076 —0.56714774l= 107, #lK
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x=0.5;er=1;:k=0;
x=exp(-x0);
er=abs{x-x0);
x0=x;:k=k+1;
end
H Aitken BN Fyik, AU A A
v, =exp(—x,), z, =exp(—y,)
(2, =3 (=00 1, )

- =7 =
'1.Ill| ~n

z,— 2y, +x,
filteg = 0.5, 3 EEERUF




Mk=2 B, | x3— 22 | =10.56714329 —0.56714331 |= 1077, #HL
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end
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B 4 fxy =20+ 27 +10 6= 20, WAHEAS L0
x, #2507 10x, —20
'xn+1 ‘er 2
3x, +4x, +10

FTEHEAF A1) R2) <0, HOFRAEN 20K MRS, BMig=1, 5T

14117647 13693364 13688081  1.3688081
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3(1+x?)

PATEN 8
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